2011/9/14

20010 000oobbon

000 (a)

. 4 4

min. i Yo VijZi%;

st b x> 1.02
4

i=1 €Ty = 1

;> 0,i=1,...,4

max E?:l LEXD)

s.t. 22_1:1 Z?Zl vijrir; < 0.04
22121 r; =1
2, >0,i=1,...,4

000 (1) HO(2) ED (3) 10 (4) A, 0 (5) C
ooo (@)

Vf(w1,22) = ( 21;219;2 >, Vg(r1,22) = ( _01 >

2z + 2 -1
=0

1 <0, 020, pr =0

(if)

(iii) > 0,2y =000000 KKTOOOO 100002-x,=00000k=20000
000 KKTOOOOOz, =00000 (21, 22,) = (0,0,2) 0 KKTOOOOOOO
0OKKTOOOOOO0OOO0O0O0000000 (z1,22) = (0,000 000 (000KKT O
000000000 00000KKTOOOOOOOOOOO x000000)

p=0,z; <L0O0000 KKTOOOO 10000 =—200000000-21 <0
ugbobooboogn

000 (1) JO(2) KO (3) ED (4) A,0 (5) C



